
 

Right-Click Graphic for Options 

Item Current Part Description Replaced 
Part Qty Notes Kits/Assys 

Where Used

1 K-4175
HOUSING 
UPDATE KIT 
(FRO)

4302150 ,S - 2394,K-3427 1 HOUSING ONLY - ITEM 
#23 INCLUDED

1 S-2842
SHIFT BAR 
HOUSING 
(FRO)

4304435 4305081 1 HOUSING ONLY K-4175

2 4302713 PIN 1 AFTER S/N 51109212 S-2844, S-2845

2 4303767 PIN 1 PRIOR TO S/N 51109212

3 5568504 -O- RING 1 TO BE USED WITH 
SWITCH ONLY

4 4302748 REVERSE 
SWITCH 1

5 4302142 PLUG 1 M14 X 2 HEX S-2842, S-2844, 
S-2845

6 14192 -O- RING 1 TO BE USED WITH PLUG 
ONLY

S-2842, S-2844, 
S-2845

7 4302156 GASKET 1
K-2921, K-3883, 
S-2842, S-2844, 
S-2845

Página 1 de 3Eaton Inforanger

29/05/2012http://www.inforanger.roadranger.com/epc/print.asp?modelID=331&groupID=196



9 4302175 OIL TROUGH 1 S-2844, S-2845

10 X-8-0801M CAPSCREW 2 M8 X 1.25 X 12MM

11 4304138 PLUNGER 4302162 1 K-2917, S-2844, 
S-2845

12 4302134 SPRING 1 STANDARD K-2917, S-2844, 
S-2845

13 4303135 SPRING 1 S-2845

14 X-8-1013M SCREW 1 M10 X 1.5 X 20MM

15 4303038 SHIFT BLOCK 1 S-2844, S-2845

16 4302168 SHIFT YOKE 1 REVERSE/1ST S-2844, S-2845

17 4303037 SHIFT SHAFT 1

CAN BE USED WITH 
EITHER 4305081 OR 
4304435 SHIFT BAR 
HOUSING

18 4304604 KEY 4302158 1 SHIFT K-2917, K-3420, 
K-3723

19 4302159 INTERLOCK 
KEY 1 DETENT S-2844, S-2845

20 4302166 SHIFT YOKE 1 2ND/3RD S-2844, S-2845

21 4302174 SHIFT BLOCK 1 USE W/4302150 
HOUSING

21 4304464 SHIFT BLOCK 1 USE W/4304435 
HOUSING

K-4175, S-2844, 
S-2845

22 4302170 SHIFT YOKE 1 4TH/5TH - USE 
W/4302150 HOUSING

22 4304438 SHIFT YOKE 1 4TH/5TH - USE 
W/4304435 HOUSING

K-3723, K-4175, 
S-2844, S-2845

23 K-3916
SHIFT BAR 
REPLACEMENT 
KIT

4302155 1 K-4175

24 4302070 SNAP RING 1
K-3104, K-3723, 
K-4175, S-2844, 
S-2845

25 4302157 ACTUATOR 1 USE W/4302150 
HOUSING

25 4303225 ACTUATOR 1 USE W/4304435 
HOUSING

K-4175, S-2844, 
S-2845

26 4302183 SNAP RING 1 K-2917, S-2844, 
S-2845

27 4302172 BIAS PLATE 1 K-2917, S-2844, 
S-2845

28 X-12-404 PIPE PLUG 1 1/4" NPT

28 X-12-603 PIPE PLUG 1 3/8" NPT

29 4302152 PIN 1 USE W/4302150 
HOUSING

Página 2 de 3Eaton Inforanger

29/05/2012http://www.inforanger.roadranger.com/epc/print.asp?modelID=331&groupID=196



29 K-3104 ACTUATOR PIN 
KIT 4303287 1 USE W/4304435 

HOUSING

30 4302857 BREATHER 1 3/8"

30 4304602 BREATHER 23605 1 1/4" K-3476, S-2842, 
S-2844, S-2845

31 4302133 BIAS PLUNGER 1 K-2917, K-3723, 
S-2844, S-2845

32 4302138 SPRING 1 OUTER K-2917, K-3723, 
S-2844, S-2845

33 4302139 SPRING 1 INNER K-2917, K-3723, 
S-2844, S-2845

34 X-12-208 PIPE PLUG 1 1/8" NPT

35 4302153 PIN 1 S-2844, S-2845

36 5568510 -O- RING 1 USE WITH SWITCH OR 
PLUG

S-2842, S-2844, 
S-2845

37 4302749 NEUTRAL 
SWITCH 1

38 4302143 PLUG 1 M16 X 1.5 HEX S-2842, S-2844, 
S-2845

39 X-8C-1036M CAPSCREW X-8-1005M 16 M10 X 1.5 X 38MM K-3883

40 X-12-603 PIPE PLUG 1 3/8" NPT

41 4305078 SHIFT SHAFT 1
CAN ONLY BE USED 
WITH 4305081 SHIFT 
BAR HOUSING

S-2844, S-2845

999 S-2844
SHIFT BAR 
HSG ASSY 
(FRO)

4302150 ,4304435 ,4305081 ,S 
- 2392 1 COMPLETE - INCLUDES 

RANGE CYLINDER ASSY

999 S-2845
SHIFT BAR 
HSG ASSY 
(FRO)

4302150 ,4304435 ,4305081 ,S 
- 2695 1

COMPLETE - INCLUDES 
RANGE CYLINDER ASSY 
AND OPTIONAL DETENT 
SPRING DESIGN 
DETENT SPRING. IT IS 
USED TO INCREASE 
SHIFTER DETENT 
FORCE.

 

Página 3 de 3Eaton Inforanger

29/05/2012http://www.inforanger.roadranger.com/epc/print.asp?modelID=331&groupID=196


